a<vY0B%&

3ERSM2E11R20H AV REER
HARUT: bYThy b, ERhcp+3 6

BBLF—n out 1 3 45609
in 101314151718

IEfi E % out in | GROSS | HDCP | NET R (F®
R £k IE— 35 37 72 36 68.4|7VFR MY FXTA4NYY
SRS b B4E 53 48 101 30.0 TLO|7VFR YRR YRy Y - YF—RF— IR —N1H—Z
31 = 41 41 82 10.8 TL2|ZYRYAL—15 - RY IV v - V1L~ 2R
4 R RL 41 43 84 12.0 20| 7YFR b F vy T - NYEIF——
5T AR Tk 44 45 89 16.8 122|7VFR Y F vy T - AV FOF—%— YT —RF—JH—
6i Y& #%B3B 41 41 82 9.6 24| 7VFR Y Foy T NV FEY+—2—
71 fEE EfE 42 40 82 9.6 24| ZYRYAZ—1F - RY oYy R— V1L —2Z
8fi INE & 50 46 96 228 32| 7V FR Y Fry T NV FYF—T—
ofi INEA{ERE 45 50 95 21.6 TBA|TVFRIYFry T - NYFYr—7—
104z BiE gk 50 48 98 24.0 74.0|FAERA — X B

114 il # 39 46 85 10.8 TA2|FWEY v R

12fir gk BS 46 45 91 16.8 TA2| FHEY vV REF

13fiz —= BA 47 44 91 16.8 TA2| FHEY v VRETF

144z FH = 43 41 84 9.6 TAA|FHEY v REBETF

1541 B 43 40 83 8.4 74.6| ZHORMBY bt

16fi2 ik o 42 46 88 13.2 TA8| FHEY vV REF

174 HH L= 44 42 86 10.8 52| FHEY v VRET

18fi INERE & M 45 86 10.8 15.2|FHE Y v v REF

1941z Bk EH= 51 47 98 22.8 75.2|FHEY v RRT

20 EE]| &® 50 41 91 15.6 754 | ZHORYBEY ShE

214z TF F5 48 49 97 21.6 T54|FHEY v R

2241 B8 fi— 48 49 97 21.6 T5.4| FHEY v R BET

234k WeF # 44 46 90 14.4 75.6| FHEY v VRET

2441 e B3R 49 45 94 18.0 76.0| FHEY vV REF

25 5 B 46 48 94 18.0 76.0| EHORMBEY Abt

26111 /R T 55 51 106 30.0 76.0|FHEY v~ FEF

271k RE i 45 48 93 16.8 76.2| FHEY v VRETF

2811 A IEid 51 48 99 22.8 62| FHWEY v v RERT

291 KiE KE— 46 46 92 15.6 76.4|FHEY ¥ ¥ RBTF

30fi -] = 48 44 92 15.6 76.4| ZHIDRMEY AhE

311z Hth —iR 50 48 98 21.6 76.4|FHEY v >R

321z ek 1554 45 46 91 14.4 76.6|FHEY v L HETF

33fi B BE 39 45 84 7.2 76.8|FHEY vV HETF

344z D EE 49 53 102 25.2 76.8|FHEY v L RETF

35 ZAHEBE= 48 53 101 24.0 77.0|ZHORMBY bt

361z gk EB 56 55 111 33.6 TT4|FHEY vV REF

371z g 48 48 9% 18.0 78.0|FHEY vV RRT

381 T #EER 45 57 102 24.0 78.0|FHEY ¢ v RRT

394z A& =i 51 51 102 24.0 78.0|FHEY vV RRT

401 %3 1IERA 49 46 95 16.8 78.2 | EHIORMBEY AhE

414k At BEX 48 47 95 16.8 782|FHEY v VR

42fi IMNARE— 48 47 95 16.8 78.2| FHE Y v VARBF

43(i NG 2 49 49 98 19.2 78.8|FHE S ¥V RETF

444z R 50 54 104 25.2 78.8|FHEY v L HET

4543 Al E8 45 49 94 14.4 79.6| ZHORMEY bt

461z EF 84 52 54 106 26.4 79.6|FHEY v L HETF

474 EH I 44 49 93 13.2 79.8|FHE Y ¥V RETF

48fi EH & 49 50 99 19.2 79.8|FHEY v RRF

491z HE = 49 50 99 19.2 79.8|FHEY vV RRT

50{iz ih = 57 54 111 31.2 79.8| ZHIDRMEY AhE

511z M EhE 52 56 108 276 80.4| FHEY v R

5211 B ER 56 57 113 324 80.6| FHE Y v~ RRTF

53(i FeH B 52 48 100 19.2 80.8| FHE Y v~ REBTF

5441 ik & 48 52 100 19.2 80.8| FHEY v~ RRTF

55{1 ¥E {8 56 58 114 324 816|ZHiIORYEY &bt

561 NG TR 61 57 118 36.0 82.0| FHEY v FBF

5744 BX fix 56 54 110 276 82.4| FHE Y v RBTF

584 {2H Bk 58 60 118 324 85.6| FHE Y v~ RRTF
BBE IR #2 47 56 103 16.8 86.2|RY Y Y R—N1Z =R
BME Al &8 62 66 128 36.0 92.0|tREAERA — X B
BGH &k IR— 72 FH—RFLES




